
kapacita, odpor
1. 0,1(F
2. 0,1(C
3. 100MV
4. 10,68pF
5. 44,25pF; 4,4nC
6. 8,85·10-7C/m2
7. Q1=Q2=4,8(C; 4,8V; 1,2V
8. 157
9. 5·10-20C
10. 179pF
11. 743,4pF; 1,8·10-5J
12. 4 472V
13. 97,4nF
14. 4,5·1023
15. 0,75A
16. 1h 30 min
17. 500V
18. 20V
19. 152,86 Ω
20. 5,6·10-8Ωm
21. 6,4m
22. 150,75A
23. 2,6mm
24. 9:1
25. 
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Ohmov zákon
1. 4,5A
2. 0,5Ω
3. 1,6V
4. 2Ω; 8Ω
5. 3V; 1Ω
6. 0,04A.
7. 1,92V
8. Zmenší sa asi o 
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A
9. 117V
10. 12V; 1,8V
11. 5

Práca a výkon
1. 2h
2. 16
3. 5A
4. 176V; 44V
5. Druhá žiarovka spotrebuje 1,5-krát väčší príkon.
6. 60kJ
7. 288kJ
8. 4,84Ω
9. 62%
10. 0,9Ω; 6,67A; 3,95A; 3,55V; 29,6W; 14,04W; 47,4%
11. 12A; 288W; 622,08kJ; 414,72kJ
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